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Révisions :

Pour chaque exercice, calcule sans poser
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Diviser un nombre entier par 10, 100, 1 000 obtenir un nombre entier :

GO A0 -

600 =Hw= 6

A0/ qoa -4000!- 60

Pour chaque exercice, calcule sans poser
l'opération.

2 - B
?a) 60:10-6 800:100 80:10
b) 90000:1000 700:10 90: 10
%0 10 9
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€D * Recopie et compléte.
a.7500:10=... 50

b. 12 650: 10 =...A2L45
€. 24000:1000=...0/¢
d.70700:100=... 30+

€D * Recopie et compléte.
a. 740:10= .44

b. 8500 : 100 = £

¢. 104 100 : 100 = A 04/
d. 60060:10=.6 O06
e. 24 000 : 100 = Q4O

050
i. 205000:100=...

j. 32700000 : 10 000 = ... 5L 1O

e. 2050000:1000=...

; = R0
f. 9400:100 =% i

g.17000:1000=... 471 k.1550000:1000=... \&50
h. 1500000: 100 =... . 4320200:100=...
A5C0

43 Q0

f. 14 200 : 100 = A4%
g.57000:100=.>10
h. 90 000 : 1000 =20

i. 700000 : 10 000 = 30
j. 30000:1000=.20




